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EQUILIBRIUM

Goal:
- to understand the state of equilibrium
- to find an equilibrant

- to solve problems involving static equlibrium
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A system is in a state of equilibrium if:
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An equilibrant force is the force needed to put a system into a
state of equilibrium.

Ex: Given two forces, F4=50 N [N] and F,=20 N [E], find the
equilibrant.
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A common problem involving static equilibrium is
suspended objects.

a) symmetric

b) non-symmetric

Symmetric:

A 20 kg sign is supported by two cables as shown. Determine
the tension in the cables.
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The same sign is supported by two new cables. Determine the
tension in the cables.
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